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Atternpt all the questions. Every question has equal marks viz. 0.80.
Before attempting the question paper kindly check that this
booklet has total 16 pages and OMR Answer Sheet consists
of three copies. At the start of the examination and within first
five minutes, candidates are advised to ensure that all pages
of test booklet and OMR Answer Sheet are properly printed and
test booklet is not damaged in any manner. Serial No. and Series
of OMR Answer Sheet and Test Booklet match with each other.
In case of any discrepancy, the candidate should immediately
report the matter to the invigilator for replacement of test
booklet and OMR Answer Sheet. No claim in this regard will
be entertained after five minutes of start of examination.

. Do not forget to write roll number on the top of this question

booklet and OMR Answer Sheet.

_ Do not tear or fold any page of the question bookletand OMR

Answer Sheet. .

. Candidate must bring legibly printed Admit Card with recent

coloured photo pasted on it at mark B duly attested by
Gazetted Officer and one identity proof with photo like
Driving License, Voter Card, Aadhar Card, Passport elc.
at the Examination Centre failing which candidate, will not
be allowed to take the examination.

Candidates are advised to make sure to fill the correct name
Roll No. and test booklet code on the OMR Answer Sheet. If
the space for the Booklet Gode is left blank or more than one
booklet code is indicated therein and non Iiiling of name and
Roll No. as per instruction, it will be deemed to be an incorrect
booklet e and Answer Sheet will not be evaluated, The
candidate himself/narself will be solely responsible for all the
consequences arising out of any error or omission in writin
the test booklet code. Candidaté shall put his/her LTI [Male%
and RTI (Female) on attendance sheet, on the OMR Answer
Sheet and on the Biometric Machine along with signature.
Canﬁidaae slh%ulcr:i‘:i put his!hellr signature and thumb impression
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Candidates are warned not to fold or make any stray
marks on the OMR Answer Sheet. Use of Eraser, Nail,
Blade, White Fluid/Whitener etc., to smudge, scratch or
dama?e In any manner on the OMR Answer Sheet during
Examination Is strictly prohibited. Candidature and OMR
Sheet of candidates using Eraser, Blade, Nail or White
Flulds/Whitener to smudge, scratch or damage in any
manner, shall be cancelled.
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1.

(C) Donkey

Which one of the following is not a search
engine ?
(A) Google
(C) Yahoo

Who was the first woman politician of

Haryana who served as a Governor of a
state ?

(A) Shanno Devi
(B) Chandrawathi
(C) Chandrakala
(D) Renuka Bishnoi

Lal Masjid of Rewari was constructed during
the rule of '

(A) Babar

(B) Mohd. Bin Tughlak

(C) Mohd. Ghori

(D) Akbar

\ (B) Chrome
D) Bing -

Select the word which is least like other
words in the group.

(A) Cow (B) Deer

(D) Goat

First battle of Panipat was fought in
between

(A) Akbar and Rana Pratap

(B) Ibrahim Lodhi and Akbar

(C) Ibrahim Lodhi and Babar

(D) Akbar and Shershah Suri

is the first and youngest woman in
the world to climb Mt. Everest twice.

(A) Bachendri Pal
(B) Santosh Yadav
(C) Premlata Agarwal
(D) Arati Saha

was instrumental in collecting a
version of the Guga legend and published

in Indian Antiquary (1895).

(A) Major J. Abbott
(B) William Crooke
(C) Charles Swynnerton
(D) Richard Carnac
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10.

11.

12.

13.

14.

The Amendment of the Indian Constitution
which reduced voting age from 21 to 18
yearsis
(A) 61
(C) 42

Present Chief Minister of Arunachal
Pradesh is

(A) Nabam Tuki

(B) Pema Khandu

(C) Dorjee Khandu

(D) None of the above

Haryana Sanskrit Gaurav Samman for the
year 2016 has been awarded to which of
the following Sanskrit writer ?

(A) Prof. Shrikrishna Sharma

(B) Acharya Mahavir Prasad Sharma
(C) Prof. Rajeshwar Prasad Mishr

(D) Pandit Sitaram Shastri Acharya ~

(B) 62
(D) 44

Class which contains only pure virtual
function is called

(A) base class
(C) abstract class

(B) derived class
(D) inherited class

It P(A) = %-and P(A n B) = g then

P

1

© %% © "o

Which of the following is not a keyword in
python ?
(A) Try
(C) Throw

(B) Except -
(D) Pass

The code name used to launch an invasion
on lraq by USA in 2003 was

(A) Operation All Clear
(B) Operation Iragi Freedom
(C) Liberation of Iraq

(D) Operation enduring:[re.:ebdgm‘pf Iraq

Downloaded from www.cclchapter.com
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15.

16.

i A

18.

19.

20.

21.

Ekuverin, a bilateral military exercise

{ﬁg%ngzdheld in Belagal\f?,l was between

(A) SriLanka

B) Maldi
©) Nepal (B) Maldives

(D) Singapore

Find the missing letters i i
AL LMI%I.,?-_ S in the series

(A) WK

= i
(C) STU | R

(D) RST

-

thy temple dedicated to Ekalavya is
situated in

(A) Khandsa

(B) Yamuna Nagar.
(C) Baharpur
(D) Sohna

Predict the outp_uti_"sum“ in the following.
- program. -

sum=0 v

foriinrange (1, 11,2):

sum+ =i

print “sum=", sum e

(A) 11 " (B) 22

(C) 24 (D) 25

Total number of gold medals bagged by

India in the recently held Commonwealth
Games is

(A) 25 ~ (B) 26

() 27 (D) 23

Karthik cultural fest in Gurgaon aims at
promoting

(A) Agricultural harvesting
(B) Martial arts and folk arts
(C) Happiness of husband
(D) None of the above

The leading Producer of Manganese in |,

India

(A) West Bengal

(B) Jharkand

(C) Odissa

(D) None of the above

ks
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22.

23.

24.

26.

27.

28.

placed co-axially with a convex mirror of

In python, operators with same precedance
are evaluated

(A) Right to left (e

(B) Left to right

(C) Both (A) and (B)

(D) Cannot be determined

BRICS stands for

(A) Brazil, Russia, India, China, South Africa
(B) Brazil, Russia, India, Canada, South Africa
(C) Brazil, Russia, India, China, Switzerland
(D) Brazi, Russia, Italy, China, South Africa

A convex lens of focal length 20 cm is

radius of curvature 20 cm. The two are kept
15 cm apart from each other. A point object
is placed 60 cm in front of the convex lens.
The position of the image formed by the
combination is |
(A) 60cm (B) 40cm

(C) 30cm (D) 10cm

The mean deviation of the data 3, 10, 10,
4,7, 10, 5 from the mean is

(A) 2 (B) 2.57

(©) 8 (D) 375

Which of the following is not an award
presented by Haryana Sanskrit Academy ?
(A) Maharishi Valmiki Samman

(B) Mahakavi Baanbhatt Samman

(C) Maharishi Vedvyas Samman

(D) Mahakavi Kalidasa Samman

A and B are married couples. X and Y are
brothers. X is the brother of A. How Y is
related to B ? '

(A) Brother (B) Brother-in-law
(C) Son (D) Son-in-law

There are four bus routes between AandB,

three bus routes between B and C. A man
can travel round trip in the number of ways
by bus from A to C via B. If he does not want
to use a bus route more than once, in how

many ways can he make round trip ?
(A) 72 (B) 144

(C) 14 (D) 19
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29.  Which of the following districts of Haryana

is richest in mineral resources ?

(A) Fatehgarh (B) Mahendragarh
(C) Hisar (D) Ambala
Consider the following statements about

1929 Lahore.Congress Session.
1

~ 30.

Nehru.
It declared ‘Eyrna Swaraj' or complete
independence.
Decided to celebrate Jan. 26" 1930
as Independence day.
4. Gandhiji gave call for Do or Die.
Identify the correct statements.
(A) 1and2only
(B) 3and 4 only
(C) 1,2and 3 only
(D) 1,2and 4 onhly

2.

3.

A galvanometer has a resistance of 30 Q and

a current of 2 mA gives full scale deflection.
How will you convert this galvanometer into
a voltmeter of 0.2 V range ?

(A) 700 Q resistance should be connected
parallel to the galvanometer

(B) 70 Qresistance should be connected

parallel to the galvanometer

700 Q resistance should be connected

in series to the galvanometer

70 Q resistance should be connected

in series to the galvanometer '

(©)

(D)

32. 7"-2",n e Nisdivisible by
-33% (A 7 (B) .2
«(C) 5 (D) None of these

The baking quality-of wheat {s attributed to
(A) Glutenin « (B) Gluten
(C) Glutenicacid (D) None of these

34. A magistrate has the power to direct the
police to investigate into

(A) anon-cognizable offence

(B) a cognizable offence

(C) only a non-cognizable offence asina .
cognizable offence the police is under
a duty to investigate

both (A) and (B)

(D)

Downloadéd from wWww.cclchapier.com
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35. Which one of the following is not an Internet
Service Provider (ISP) in India ?

(A) VSNL

(B) BSNL

(C) ERNET India
(D) Infotech India Ltd.

36. Thetask which is not performed by Election

Commission of India is

(A) Issuing notifications for elections
(B) Preparing electrol roll

(C) Nominating candidates

(D) Implementing model code of conduct

Which of the following statement is correct ?

(A) Modem converts the analog signal into
digital signal and vice-versa
(B)

Modem is a software
(C) Modem helps in stabilizing the
(D)

voltage _
Modem is the operating system

Right to Information Act (RTI) was enacted

in the year of

(A) 2003
(C) 2005

38.

(B) 2004
(D) 2006

39. Galenais
(A) CuFesS,

(C) ZnS

(B) PbS
(D) CaSO,

Who among the following have been awarded

by Param Veera Chakra for his service during
Indo-Pakistani war of 1971 ?

' (A) Hoshiyar Singh Dahiya
(B) Karam Singh
(C) Vikram Batra
(D) Yogendra Singh Yadav

41.
Ministers of Haryana was a union
Minister during 1975-77.

(A) Home (B) Finance
(C) Defence (D) Law:

Downloaded from
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42,

43.

44,

45.

46.

47.

48.

49.

- (A) Endometrium

Malt extracts of which crop are used as

supplements in energy rich drinks like
boost, bournvita, horlicks... ?

(A) Wheat (B) Oats
(C) Barley (D) Triticale

Rock Garden of Chandigarh was founded by
(A) Nek Chand Saini

(B) Albert Mayer

(C) Maciej Nowicki

(D) None of the above

was the longest serviné Governor of
Haryana.

(A) Dharma Vira .

(B) Birendra Narayan Chakraborty
(C) Ranijit Singh Narula

(D) Jaisukh Lal Hathi

The first Non-Aligned Sl__.lmmit was held at
(A) Belgrade ~(B) New York
(C) Delhi (D) Bangalore

Which of the following electromagnetic
spectrumis the chief cause of skin burning,
tanning, cancer, etc ?

(A) UV-A rays

(B) UV-Brays

(C) uv-Crays

(D) None of the above

Following is not a layer of uterus
(B) Myometrium

(C) Perimetrium (D) Ectometrium
The number of baéteria in a certain culture
doubles every hour. If there were 30
bacteria present in the culture originally,
how many will be present at the end of 4"
hour ?

(A) 120 (B) 240
(C) 480 (D) None of these
Value of (J§ +1)s +(J§ —1)ai5
(A) 1982 (B) 3024
(C) 198 (D) 200
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50.

51.

52.

53.

54.

55.

56.

57.

Investigation of an offence is conducted by
(A) Judicial magistrate

(B) Executive magistrate

(C) Police officer

(D) Both (A) and (C)

Identify the IP address from the following.
(A) 300-215-317-3

(B) 302-215@417-5

(C) 202.50.20.148

- (D) 202-50-20-148

Which of the following personality is said to
be the father of folk theatre in Haryana ?

(A) Ali Baksh (B) Lakhmi Chand
(C) Daya Chand (D) Mukesh Yadav

What is the cause of Greenhouse effect ?
(A) IR rays

(B) Microwaves

(C) X-rays

(D) Radiowaves -

Find out the missing number in the
sequence -1, 0, 1, 8, 2(?{; </ 5

(A) 24 ) 44

(C) 60 (D) ©4

If |x - 2| < 5 then x lies in the interval
(A) [-7,3] (B) [-3,7]
©) 38,7] (D) [-7,-3]

Among the total foodgrain production, which of
the following crops ranks first in Haryana ?
(A) Rice (B) Wheat

(C) Maize (D) Pulses

_____is the state animal of Haryana.
(A) Elephant

(B) Blackbuck

(C) Indian bison / Gaur

(D) Asiatic lion

=5 %S
a==>>

Downloaded from Www.cclc-ﬁe‘t}bf'egr.com

-9-

3/2018 (1) (E)
@ U ATYRISE g R AR |

(A) =nfae nfez

(B) =rurers i

.(C) Yfera srferrrl

(D) (A) 3% (C) &

(1) Freaffirm if & smih w3 e |
(A) 300-215-317-3
(B) 302-215@417-5
«(C) 202.50.20.148
(D) 202-50-20-148

52. Preffiaa & & ) fmon # =i e

SR FEI SR ¢
/ﬁa&"ﬁm

(B) S =7
©) T (D) TENARE
53, TR 7@ ST ST HOT 18 7
/(A%:lﬁﬁ(‘ﬁ
(B) H&H T
(C) X-

-(D) ﬁ;ﬁﬁm‘; 5@
(y8 ¥ 23
F7 1. 0,1, 8,27, 7 T FEATA R |

(A) 24 (B) 44
(C) 60 -(D) 64
@wﬁt]x ol < 5Rx___ FWAAR | L2
A [-7.3] - @) 8.7 37~
(C) (3,7 (D) [-7,-3]
.W@mwﬁﬁﬂ%ﬁﬁﬁﬁﬁ#—ﬁﬁ
et 2RO B YeH T TEd @ 7
«(A) & (B) T
(C) WA (D) =
@ _ ehemmw TR |
(A) reft
-(B) m@@-ﬂ ) <5
(C) Wt TR X2t S
(D) Uf¥md I 4 S
~x-DL S "f, f—,,s;. ¥
(x-2)77% x
X2 -S+2 -3<°‘<7
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58. After successfully setting up two fully
developed food parks in Haryana, State
Industrial and Infrastructure Development
Corporation (HSIIDC) is developing another
mega food park at
(A) Rai ]

(B) Saha
(C) Barhi
(D) None of the above
59. A symptom of acute chest pain appears

when no enough oxygen is reaching the
heart muscle is

(A) Angina pectoris (B) Atherosclerosis

(C) Heart failure (D) Hypertension

60. Two dice are thrown together. Let A be the
event of ‘getting 6 on the first die’ and B be
the event of ‘getting 2 on the second die’.
The value of P(A N B) is

A Ng ® a6

RO O O R

FRaTon & GeeTATgE a1 Uiferes fd @ e
TerTfira 3 & we gion T e
U ST T FIOEE  (HSIIDC)
3w 3fit W FE e et W
wal
(A) TS
(B) Hw=l
.(C) =@l
(D) I & A &I3 A&

59. W g ! wiTufRmEl Y g3t sradis
et el i i 35 2 3 e
g8, 2 wEadE|

) i AR (B) TR
-(C) &g (D) I==FTE™

60. 2 TR U Wiy HFH I £ | wHEA A TEA
TR T 6 YT FE I T2 ® IR =T B
TR T T2 T A I HATR | P(A N B)

’}r‘ffamtm%
& X & e

Wi

(C) }é (D) None of these (D) T8 Y I3 AL
61. The number of ways of choosing 4 cards | 61. 52T THIHTY 4TS 30 TR G
from a pack of 52 playing cards such that 529 ¥ foFaFE R TFY
four cards belong to the same suit is Y
(A) 2860 (B) 2086 ) 2860 - (B) 2086
(C) 2680 (D) none of these ﬁ (C) 2680 - (D) TR A HE T
' 12 48
62. Assembly House of Haryana is at sfamm i faam s # Y ”w:ﬂf: N
(A) Rohtak (B) Panipat (A) Tea® (B) urfiaa ,
* =<+ (C) Ambala (D) Chandigarh (C) 3TaTem (D) =g
63. Which set of letters when sequentially & HT Hﬁq—maga'q?ﬁmgm(
placed at the gaps irzJ the letter series ONPM _NPMO_PMON_ 3781 SEe
ONPM _NPMO_PMON_ will complete - b, o =
it ? P matlélﬁr@mmsﬁt@fm ?
(A) PNOM (B) NMPO (A) PNOM (B) NMPO
(C) ONPM (D) MONP (C() ?’I}JFF’M o ~SD) MONP
s -~ U8
64. Inagroup of 65 people, 40 like cricket, 10 like 5 i 35 e m@”ﬁ;zo ﬁ;%%%
both cricket and tennis. The number of people %, 10 fFde sl g ami THRFAE
who like tennis only and not cricket is 3 S T e St e 2 ) g ?(ﬂ
(A) 35 B) 25 ?Aﬁ?sﬁ T, T E 2V
(C) 40 - D) 15 A *(B) 25 7, = U°
c (C) 40 @) 15 )P
-10- 1214 25
_f_{’-_:‘__ =BTXX S0 x Y
Hoougl A7)
&H_ﬁ-fhxi% - Ly, L2 =¥ 55-2,' 'H?:i
e,
TS X2 X2} TI;‘L' T - ,"'fsT
L . '& _& ‘f --'J"-.;-}
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65. Which of the following is not a type of

66.

67.

69.

70.

71.

72,

|~

-0

phulkari ?
(A) Chope (B) Neelak
(C) Tilpatra (D) Mudha

Which among the following statement about

SAARC is wrong ?

(A) SAARC members signed to a treaty
called SAFTA

(B) Its first Summit was held at Bangalore

(C) ItsHeadquarteris located in Katmandu
of Nepal

(D) SAARC was established in 1985
‘Pidi’ refers to

(A) Terracotta (B) Wood Carving
(C) " Footstool Craft (D) Metal Carving

If ‘HEATER' is written as ‘KBDQHO’. How
‘COOLER’ can be coded ?

(A) FLRIHO (B) ALRIHV

(C) FRLIHO (D) FLIRHO

The movement of colloidal particles under
an applied electric potential is called

(A) Brownian Movement

(B) Tyndal Effect
«(C) Diffusion

(D) Electrophoresis

Which of the following is a supersonic
missile ?

(A) Trishul (B) Akash

(C) Prithvi (D) BrahMos

Haryana Police and the Department of
Women and Child Development have
launched a campaign to trace and
rescue the missing children of state.

(A) Operation Children
(B) Operation Beti Bachao
(C) Operation Muskan
(D) None of the above

Select the physiological barrier of innate
immunity from the following.

(A) Skin on our body

(B) Acid in stomach

(C) Monocytes
(D) Interferons

0!’ tl

4§= yo+ncr)-)o
65

11-

m (—;Q; h(r)- Y’(T/?(_‘)
5 =35 —(ez25 Ay, FA8
Downloaded from www.cclchapter.com
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65. TreIfeTfiad # § -8 FoIdr! H1 Teh ThT

TEie L
(A) = - (B)
) faerm= kel

v ¥ e Frerferfaa & & e —a o

gaEie? :

(A) Hﬁgwﬁmmﬁ@aﬁ:wm
ferg :

-(B) HH TE TEITH ST H gAT

(C) 3HH YEATEd JuTel % HicHg o feurd @

(D) @7 1 T 1985 9 €3

67. e @ wefifa?

.(B) TS el

(A) TR
Tfe=n (D) 4rq shedl

(68) = ‘HEATER #! KBDQHO' foran st 2,

a1 ‘COOLER'’ &1 32 &1 &1 7
-(A) FLRIHO (B) ALRIHV
(C) FRLIHO (D) FLIRHO

69. e ferega favra & sferia swfcretia won it i

FHEATA € |
(A) A= ifd
(B) fi=ar wumm

(C) fazm

(70) Firfeafae o & - ver g e & 7

(A) Fe@
(C) g=ht

(B) 3TeRTHI

- (D) s

(77)  whemon yferm s afien v are e frm

A TS % WY gU o=t bl gat 3 == Bg
I fo |

(A) IATEE feeg

(B) ITRYM e} sr=naft

~(C), ATRIH T=H™

(D) 3% H 4 Fr§ 7

72. SSTa et &1 s R A

Frfafes # @ gfig
(A) TR IR 9 &=
, o e
-(C) WrETEeE
(D) T

i €
|2 %42 X IX | C
‘_-—___‘_-_-_'_"‘"—--___
;’f THXIZK2 o

. : 12
24 8¢
/2 4){ glas
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73.  Anexplicit process of converting a data from @ T GHR F fFS FI T EEERE 3"& Th
one type to another is called Tqee iR %
(A) type casting - (A) <Y
(B) automatic type conversion . ;&B) Fitermfesh <rgd Al
(C) data overloading " . (C) s siraeeT
(D) exception handiing j& (D) A Eefer
74. Which of the following is not a High Level | 74. frfafaada H - R 3= T st
Programming Language ? _ _ qETAE 8 7
(A) COBOL (A) A
(B) Pascal *(B) 9r=hcd
(C) Assembly language ) s AT
(D) FORTRAN (D) WG _ .
75. International Yoga Day is celebrated on 75. :ﬂaﬁg\ﬂ 7 feaw 1 TR
g e |
(A) 20" July (B) 21 July _ (A) 209 .(B) 21 o

]

(C) 227 July (D) 21%June 7 (C) 229 tD) 21 S -

76. |If ‘A’ means ‘%', ‘B’ means '+, ‘C' means 4 . ?-‘Iﬁ’{ N AR GG E R ‘B'W‘H‘Eﬁﬁi ! , 'C hl
and ‘D’ means ', then21 C3D6A8B2= e 4 ST D' T TaeE < 8,

aw—mfﬂgags)ﬁéa_@zz

(A) 72 (B) 0 2ot ¥ . {B) 0
() 48 (D) none of these C) 48 (0) FHE EIEEH
77.  The mean deviation aboutthe meanforthe | 77. %g16,7, 10, 12, 18,4, 8, 123k (=1
data 6, 7, 10, 12, 13,4, 8,12is A faeem B
(A) 3 B) 9. , (A) 8 : -{B) 9
(C) 275 (D) 3.25 | Aer2rs D) 825  _,.
78. Horseisa ; 78. TTITTH s
(A) Ruminant hoofed (A) STt S et X
(B) Non-ruminant hoofed /(BT EIt ST S AT
(C) Even toed roofed | «(C) &H H&AT § It At T
(D) Odd number toed hoofed (D) forem He % Jeft amen @y
79. is the present Advocate General of ‘a'ﬁtmvn a-aimq aiferaEa
Haryana. ‘l'? i e 2
(A) Baldev Raj Mahajan (B) oW ﬁwh'(
(B) Nawal Kishore Agarwal (C w
(C) Ashok Agarwal (C) 3T TmaTe
(D) Surya Kant ' (D) T
80. ; ot
Which .of_th_e following is correct ? | @" ﬁqﬁqﬁga b a ﬂﬁ?-[-m P % 2
(A) Sin6=-5 (B) Cos6=1 (A) Sino=-5
(C) SecO=12 (D) Cos af =0 : (C Se 8— : ‘(B) Cos 6 =1
c co=le (D) Cosap=0

-12-
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81.

85.

86.

the state's @ o aim afv sTgde AagE R far____

Haryana has appointed

brand ambassador to promote Yoga and ) T % #E varmer frge e
Ayurveda. ) T T

(A) Baba Ramdev (A) :F]Tn it

(8) Sri Sri Ravishankar " (B)

(C) Sadguru (C) wale

(D) Acharya Balakrishna (D) 3T SEAF

The low salinity of water is observed inBay | g, et =t wrgl # st 1 ot awavman ____
of Bengal due to | FFRO BB |

(A) High evaporation ' (A) 3=

(B) Hydration (B)

(C) Precipitation “(C) i

(D) Influx of river water /(437/ Tt & ST R AT FI

Recently, this country has requested | 83. @ elH, =0 31 3 3% Fa v S e
Haryana Government to celebrate Geeta TR & foru =@ R e airg’ft‘d fFn 2
Jayanti Mahotsav in their country R At

(A) Malaysia (B) Bali “(A) ,((g;/

(C) Pakistan (D) Mauritius (C) Ul ELE

Select the pair in which the numbers are | (84) T8 SIS] g ﬁﬂﬁﬂ@ﬁﬂm
similarly related to the pair 7 : 24. UFH-gat ¥ HE i A T=ER 7:24 q

(A) 30:100 (B) 23:72 (A) 30:100 - (B) 23:72
(C) 19:58. (D) 11:43 (C) 19:58 (D) 11:43
Three married couple are to be seated in 85. mﬁﬁ%ﬂgﬂﬁﬁaﬁﬁﬁﬁmiﬁﬂﬁ Xsic!
a row having 6 seats in a cinema hall. If q{ﬂ.‘qjﬁ H 3 & | Al qfq -l 1 Tk
spouses are to be seated next to each other, T I AR, A I o TR E S
in how many ways can they be seated ? S HHAT R 7
(A) 6 (B) 18 *(A) 6 (B) 18
©) 48 (D) None of these AEY 48 (D) ¥ d = T
1 13
lf the sum of first 3 terms of a G.P. is 1_;. 86. o ST Soft 7 et ot wal w1 I >
and their product is —1, then the common 2 3 37 3G —1 B, A T U 2
ratio is 3 _4 B -1 13
W -Yor =4/ @) 1. %, A=Y Yo B Yy
© 3/or4 (D) Y2 or2 © Yords D) Y2or2
Yaor %

Stomach of ruminants is divided into 87. w ;Wf-’l TR H IRE __ HEA
(A) Fourpars ~ (B) Twopars /\‘ﬁ%ﬂm <(B) A v
(C) Three parts (D) Five parts (C) < W (D) §isr W
A charge is framed by 88. U WY B A ST € |
(A) The court (B) The police AT (B) fe
(C) The prosecution (D) All tha(abova ¢ (C) i3 us (D) Ia w+ft

ab C apzatc U7 T A C

a+b4cC= % !2

bt2p= 12 b/ﬂ" aﬂf.:;"’ CCH‘OQ'-'-' (Ct-l-fji"z

17 acz" ahb.aac = B 2ac-HC
q+Cc= A2 = Fi_?ﬁ_tf __34')

/R
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English Language

Complete the sentences selecting correct option : |.

89. We are so late
(A) we couldn’t catch the train
that we cannot catch the train
. (C) to catch the train
(D) that we could catch the train

As soon as the speech started
» (A) then the demonstrators rushed to the
platform
(B) when the demonstrators rushed to the
platform
(C) than the demonstrators rushed to the
platform

-(D) the demonstrators rushed to the |

platform

Select the correct indirect speech for the following :

91. The er says “Have you seen the map 7"
The master inquires if he has seen the map
(B) The master inquires if he saw the map
(C) The master said had he seen the map

- (D) The master asked had he seen the map

92. He said “Be quiet and listen to my words".
He urged them to be quiet and listen
to his words

(B) He urged them if they sit quiet and
listen to his words

(C) He said to them be quiet and listen to
his words

« (D) He told them to quiet and listen to his

words ;
Fillin the blanks with appropriate from the given options :

Benny had finished cooking when the
visitors
~(A) entered
(C) entering

94. He two wickets before play was
interrupted by the rain.
(A) _has taken (B) taken
) had taken -(D) took

(B) had entered
(D) were entering

(AL AR

(D) = .

w33 e Araw P zg arEd “freett Ht”
FH-FTFAE B 7

(A) T R

(B) TEY HIH

(C) il hreeh

.(D) H I

SR STe2 1 T B9 ©
(A) T
(B) ¥
(C) T
(D) ¥

7 farsioor 2
(A) fera
-(B) T
(C) aTeTh
(D) i

‘S et 6 ITFR T Y 3 FEy B
*(A) A -
(B) ¥aW
(C) fwrh
(D)

T G @I §6 S 5 Ay ' 2
(A) T @ @ o £
(B) T @HT @
(C) T | W W W
(D) 1™ @M @TaT ?

(@8
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16.

19.

20.

10. Candidates are warned not to carry handkerchief, any

1.

12.

13.

17.

18.

mobile
phone, any type of watch, belt, wear ornaments like ring, chain,
earring etc. electronic or communication,device, Pen, Pencil,
Eraser, Sharpener and Correcting Fluid in the examination centre.
If any candidate is found possessing any such item; he/she will
not be allowed to enter in the examination centre. Candidate
found possessing mobile phone or any other aiding material
as mentioned above in the examination room will be treated
a serious violation and it will amount to cancellation of the
candidature and debarring him/her from future examination.
The written examination will be supervised by doing frisking
before allowing entry into Examination Centre, using CCTV
Cameras, Biometric Attendance process by capturing the
Biometric thumb impression and photograph of the candidates
during Examination. Videography and Jammers etc. shall be used
in the Examination Hall/Examination Centre to stop copying and
impersonation etc.

Candidate's request 10 change the examination centre and seat
in the Examination Hall shall not be entertained.

The stanned photograph of the candidate on his/her Admit
Card or attendance sheet will be tallied with the candidate
, appearing in the examination by the invigilator. In the event of any
discrepancy in the identification and verification of the candidate
and photographs, the candidate shall not be allowed to sit in the
examination and be liable for criminal prosecution.
14. The OMR answer sheet consists of three copies, the original
copy, the commission copy and the candidate's copy. Do
not separate or displace them. Do not darken the bubbles in
three copies of OMR Answer sheets separately. Candidate
must handover the OMR Answer sheet without separating
the three copies to the invigilator at the end of examination.
Invigilator will hand over the candidate's copy after separating
it. The candidates are allowed to take away this Test Booklet
with them. -
Each question has four alternative answer of which only oneis
correct, For each question, darken only one circle, which ever
you think is the correctanswer on the OMR answer sheet with
only Blue/Black Ball Pen rovided by the Commission.
* Pencil should not be used for darkening the circle. |f more
than one circle is found darkened, that answer will not be
evaluated.
No candidate shall be allowed to go to the toilet/washroom during
first and last thirty minutes of the examination.

No candidate will be allowed to leave the OMR Answer sheet biank.

15.

If any OMR Answer sheet is found blank, it shall be crossed by the-

invigilator with his/her signature and mentioning “Cancelled” on it

The answer sheet will be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the answer
sheet invalid. .
Carefully fill in all the necessary particulars on the answer sheet.
Change of answer sheet is not permitted.

While darkening the appropriate bubble(s) in the boxes darken
the chosen bubble(s) fully as given below. If you darken more
than one circle, your answer will be treated as wrong and such
answer shall not be evaluated.

10.

11.

12
13.

i mﬂﬁﬁm‘hﬁmﬁﬁﬁﬂﬁmaﬁmmaﬁqﬂmﬁm-
=6 e T & e ofR a st arfirim =1 T B |

14,

15.

16.
17.
18.

19.

20,

. CCTV 3w, wriif 73 @ Sip 3 s s ufef A, B
it Hifemi ofye S @ i anfe e 8 A T O

arei = S & sl § 3 v, were e, R o e
v, Fee, oI T EER H A, A, A, g, wri s
o gam Fremt 3 fore et erd wivan-dz & 7 o s, s A S,
B, H werah gftn mn frfl oft e smpm v | 3 TS
& mmy et oft vl a0 e g H e e fean oo | wen-F
3 stz faedt avemefi % e At Wwma B @ G € @ avg R
e T T 2, St 2 38w w5 i e 5
maﬁzvﬂmﬂmﬁ.wzﬁmﬁmmam@amqﬁwﬁm
aﬁmmmﬁﬁmﬁwﬁmmﬁmm|

ferfiam wite 25 rfem H weT -3 1 w391 @ vea aendt & sfafem,

1 ol sl U T g e A T |

THen-sg T qﬂaﬁ:mqﬂm-ﬁaﬁ#ﬂz%wﬂaﬁﬂwﬁﬁaﬁ%nﬂ
spveameff o v . farem e foln s l
e 7 SET-3 1 Iufeuf e # sl ER-hcadadar
ey Brere sveand & i e | e s 3w it 5 e S

momﬂm~mﬁﬁqwﬁﬁ%.®aﬁ,mwﬁjﬁaﬁwﬁ
ﬁﬂlﬁmﬁmaaﬁsomnm-maﬂaﬁuﬁﬁﬁﬁmaﬁ
ST~ ST el 7 | Syeedi e T §H R OMR IH-I
A1 whirdl @ vem B fen e aftEieer =1 di 3 | st ufd
mglﬁmmmmﬁ&amﬁ?ﬁ | ayeaeff S AT T e
firt =1 & o & € |

uﬁmm%maﬁﬁmmﬁqﬂuﬁﬁﬁﬁmﬁmﬁtm
m&xmﬁafmomnm-mﬁﬁ@wwrﬁﬁﬂhﬂmm%
Frit o7 W) I CERE & | TR SATURT AR FRI IAETEH T T
e T T T WSO A AT 1 e 1 o & for ufEeE

mwmtlﬁwm%fmﬁrﬁﬁﬁwﬁmm%ﬁlm
IR 1 A el R SO |

e ¥ wan o ifm fia frre % dom fre oft srend =t wan
(Frarere fateren) H s 1 safa 7 € s )

feft +ft arendf F1 OMR I -wa @reht Bre T 1 afe
%1 OMR IT-T @ieft i 7§ 7t wiiieh 36 W wiE FH F
YT T EETR R & oin 3 v e T 3
T T o ST AT SRt HenR § St | St A e
WO T I~ ST B AT E |

A sTEvaE fa aEuEEE - § 9 R | 3w F
TeeT Y ST TR
i o W) TiTer /et o T e e fen wu A o en /e v
72 3 e B a7fis e w1 Fen H € A7 S I e w9
ST S TR I R e T g

CORRECT METHOD/&& Tl

WRONG METHODS/ Tr&Td ik

AO00®

A®C0 GRCOO® ®®OO0 ®O®OO

21,

It a candidate does not comply with the instructions as mentioned
above or creates any kind of indiscipline, the Commission shall
take action as per Instructions and in addition can also debar
the candidate from appearing In the Examination, to be held in
future and can also file criminal proceedings.

L--___'_-

c

21.

a2 v srvneff I Frai o e et aen R 4 v A A
701 3 P e frea s wm, i g st 38
wiiir # =ft 9 ATl whanai @ off afem e s wma B 3w s
AT sTaTgl w1 6 o 7 R s e R |

o
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